TRELDBEMR AR & R

(1) 2:1 (2) 16 cm 3) 7cm
(1) 8 BCIZ EF g 676, AL 18:9=2:1
2 Q)76 AB:DE=2:1

AB:8=2:1
£-oT AB=16cm
3) 1)»16 CA:FD=2:1
14:FD=2:1
2FD=14
o T FD=7cm

1) 3¢° (2) 9cm
1) ZLCIZHIET DA LF THENH £C=59°
£oT £ZB=180°—(87°+59°) =34°
(2) AB:DE=AC:DF
6:DE=4:6
4DE=36
£oT DE=9cm

1 2:1 (2) 4cm (3) 59°
1) 2 20OWEAFONIRY HILDOEI DI
BC: FG=10:5=2:1
THhdM56, ML 2:1
2) (1)&V, HLLtLZ2: 1 THENS
CD:GH=2:1
8:GH=2:1
£-oT GH=4cm
(3) FHELRKETIE, WMIETHIHDKIIIFEFLWVNS LZH= 4D
ZIT, WAK ABCD IZHWT
£D =360°—(104°+90° + 107°) = 59°
FoT ZH=59°



